HIT || HIT || ®IT || 't || wor || wmor || ®IT || HIT | HIT || HIT
2 2 2 2 2 2 2 2 2 2
mit || BT | grr || HIT || grr || HIT || grr || HIT || gyr || HIT
2 2 2 2 2

wrr || BIT || gy | BIT || gyp | BIT || gyp || HIT || gyp || HIT
2 2 2 2 2

/T || \wrr || wr || \rr || |t || \rr || wit || miT || wiT || HIT
2 2 2 2 2 2 2 2 2 2

i || BIT || gy | HIT || gy | HIT || gyp || HIT || gyp || HIT
2 2 2 2 2

arr || BT || gyr || HIT || gyp | HIT || gyp || BIT || gyp || HIT
2 2 2 2 2

HIT || HIT || ®HIT || 't || wor || wor || ®IT || HIT | HIT || HIT
2 2 2 2 2 2 2 2 2 2

mit || BT | g || HIT || grr || HIT || grr || HIT || gy || HIT
2 2 2 2 2

wrr || BIT || gy | BIT || gyp | BIT || gyp || HIT || gyp || HIT
2 2 2 2 2

/T || \wrr || wr || \rr || |t || \rr || wit || miT || wiT || HIT
2 2 2 2 2 2 2 2 2 2

wrr || BIT || g | HIT || g | HIT || gyp || HIT || gyp || HIT
2 2 2 2 2

HIT H;T HIT H;T HIT H;T HIT H;T HIT H;T




